« Bonnet a soufflet »

Crocheted Brim (flat): (with USA terms, not UK)

Foundation : Chain 9 stitches + 1 to turn,
Row 1 : 9 SC, chain 1 to turn
Row 2 : 1 SC, 7 SC in back loop only, 1 SC, chain 1 to turn.

Repeat these 2 rows until you get the length corresponding to your head circumference (most
55-60 cm).

Knitted Body (flat) :

For a 58-60 cm head, pick 115 stitches along the crocheted band, and purl a row. Turn.

Huge increasing row : add evenly all along, 110 stitches to obtain 225 stitches total. Be aware
if you used first another number of stitches because of gauge or whatever, you need to have a
final number of stitches multiple of 9.

Knit right for 8 cm using this 2 rows chart :
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Green : the 2 stockinette stitches of the top of the “wave”

Red : 1 reverse stockinette of the bottom of the “wave”

Other stitches are garter stitch.




Decreasing : we’re going to return to a “normal” number of stitches.

Row 1 (RS) : k1, *k2tog tbl, p1, k2tog tbl, knit 4*, repeat from * to * until 3 stitches remain,
knit 3. You’ve got 88 stitches on the needles.

Row 2 (WS) : purl
Row 3 to 8 : garter stitch.

Row 9 (RS) : k13, k2tog tbl, k13, k2tog tbl, k12, k2tog tbl, k13, k2tog tbl, k13, k2tog tbl, k12,
k2tog thl.

Row 10, 12, etc. (WS) : purl

Row 11 (RS) : k12, k2tog tbl, k12, k2tog tbl, k11, k2tog tbl, k12, k2tog tbl, k12, k2tog tbl,
k11, k2tog tbl.

Row 13, 15 etc. (RS) : continue to decrease the same way, until only 18 stitches remain on the
needles.

Cut the yarn, and using a tapestry needle draw the thread to the 18 stitches to close the hat.
Secure it.

Sew the side.

Tada! :-D




